

Original Research Article

Effect of health education on prevention of nosocomial infections in primary health care facilities, Gombe State, Nigeria

Ibrahim Ibrahim Kurba^{1*}, Nazeef Mohammed², Aliyu Ibrahim Shehu², Musa Zakka²,
Usman Iliyasu², Abba Rabi'u Hussain², Aisha Aliyu Ibrahim³, Aisha Aliyu Abulfathi⁴,
Usman Bashir⁵, Halimah Nuhu Sanda⁶, Musa Isma'il⁷

¹Department of Human Physiology, Federal University of Health Sciences, Azare, Nigeria

²Department of Community Medicine, Federal University of Health Sciences, Azare, Nigeria

³Department of Family Medicine, Murtala Muhammed Specialist Hospital, Kano, Nigeria

⁴Department of Community Medicine, University of Maiduguri Teaching Hospital, Northern, Borno, Nigeria

⁵Department of Community Medicine, Bayero University Kano, Nigeria

⁶Clinton Health Access Initiative (CHAI) Nigeria

⁷Department of Paediatrics, Federal University of Health Sciences Teaching Hospital, Azare, Nigeria

Received: 03 April 2026

Revised: 08 May 2026

Accepted: 03 June 2026

*Correspondence:

Dr. Ibrahim Ibrahim Kurba,

E-mail: @fuhsa.edu.ng

Copyright: © the author(s), publisher and licensee Medip Academy. This is an open-access article distributed under the terms of the Creative Commons Attribution Non-Commercial License, which permits unrestricted non-commercial use, distribution, and reproduction in any medium, provided the original work is properly cited.

ABSTRACT

Background: Nosocomial infections remain a significant threat to patient safety and public health worldwide. Data indicate that these infections pose ongoing challenges in healthcare settings.

Methods: This study, utilizing a quasi-experimental design, evaluates the baseline knowledge, attitudes, and practices of healthcare workers and assesses the impact of a tailored health education program on these factors. A total of 380 participants were enrolled, with data collected through a multistage sampling technique using questionnaires, pre- and post-intervention assessments, and direct observation of infection prevention practices.

Results: The result revealed significant improvements in knowledge and practices concerning nosocomial infections among participants in the intervention group (ward-A) compared to the control group (ward-B) following the administration of health education. Almost all participants in ward-A (97.4%) were aware of nosocomial infections, compared to only 65.8% in ward-B. Similarly, all Ward-A participants had received formal health education on the subject, whereas only 65.8% of ward-B participants reported the same. These differences were statistically significant, emphasizing the impact of health education. The study highlights a preference for interactive learning methods, including workshops and on-the-job training, as the most effective means of delivering health education.

Conclusions: These findings underscore the necessity for ongoing health education initiatives to strengthen infection prevention and control practices in healthcare settings.

Keywords: Attitudes, Health education, Knowledge, Nosocomial infections, Primary health care

INTRODUCTION

Nosocomial infections, also known as healthcare-associated infections (HAIs), continue to present a major threat to patient safety and public health worldwide.¹ These infections, acquired during the delivery of

healthcare services within medical facilities, have a profound effect on patient outcomes, increase healthcare costs, and undermine the efficiency of healthcare systems.² Recent studies highlight the ongoing burden of HAIs, emphasizing the need for improved prevention and control measures.³ Primary health care facilities play a crucial role

in delivering essential health services to communities, but the risk of nosocomial infections persists, demanding vigilant preventive strategies. It remains a critical global issue in the healthcare sector. These infections pose a serious risk to patient safety, leading to higher rates of morbidity, mortality, and escalating healthcare costs.⁴ The problem is especially pronounced in resource-limited settings, where factors like inadequate infrastructure, insufficient training, and scarce resources significantly heighten the risk of infection.⁵ These challenges emphasize the urgent need for improved infection prevention strategies and investments in healthcare systems, particularly in under-resourced regions. The World Health Organization (WHO) emphasizes the importance of primary health care as a cornerstone of healthcare systems, advocating for the delivery of comprehensive and accessible services to communities.⁶ Despite this HAIs remain a widespread global concern, posing serious risks to patient safety and public health.⁷

Globally, HAIs are a significant burden on healthcare systems, leading to increased morbidity, mortality, and healthcare costs.⁸ Recent data from the United States indicate that HAIs affect over 1.7 million patients annually, resulting in nearly 100,000 deaths and billions of dollars in excess healthcare costs.⁹ Similarly, in the United Kingdom, HAIs impact over 300,000 patients annually, leading to 5,000 deaths and approximately £1 billion in excess healthcare costs.¹⁰ In sub-Saharan Africa, the challenges posed by HAIs are even more severe, particularly in resource-limited settings.¹¹ Contributing factors such as inadequate infrastructure, insufficient healthcare worker training, and poor infection prevention practices significantly exacerbate the risk of HAIs.¹² Studies conducted in South Africa, Ghana, and Kenya have underscored the serious impact of HAIs, demonstrating the need for focused interventions to reduce infection rates and improve patient safety.¹³ In Nigeria, HAIs continue to pose a substantial threat to patient health and healthcare systems.¹⁴ Research has consistently highlighted the prevalence of HAIs in hospitals, with studies showing an infection rate affecting over 20% of patients in some tertiary hospitals, resulting in significant morbidity and mortality.¹⁵ In Gombe State, the issue is particularly concerning primary healthcare facilities, where infection prevention measures are often insufficient due to resource constraints and inconsistent adherence to protocols.¹⁶ Limited training for healthcare workers and variable compliance with infection control guidelines contribute to the heightened risk of HAIs in these settings.¹⁷

Nosocomial infections, or healthcare-associated infections (HAIs), continue to pose a critical challenge in primary healthcare facilities in Gombe State, Nigeria.¹⁸ These infections are a significant cause of morbidity and mortality, with global estimates indicating that 7-10% of hospitalized patients in low- and middle-income countries (LMICs) acquire at least one HAI during their hospital stay.¹⁹ Despite the essential role primary healthcare centers

(PHCs) serve as the first point of contact for many seeking healthcare, the risk of HAIs remains alarmingly high. In Nigeria, studies suggest that the prevalence of nosocomial infections ranges between 10% and 30%, with even higher rates in under-resourced healthcare settings.²⁰ These infections contribute substantially to the disease burden among patients in these settings, prolonging hospital stays, increasing healthcare costs, and leading to severe complications, including antimicrobial resistance.²¹ This, in turn, places additional strain on an already fragile and resource-limited healthcare system, further impeding efforts to improve health outcomes. Nosocomial infections have far-reaching consequences, including increased morbidity and mortality rates, antimicrobial resistance, and economic burdens on patients and healthcare facilities.²² A study by the Nigerian Centre for Disease Control (NCDC) reported that HAIs significantly contribute to extended hospital stays, adding an average of 7-10 extra days per patient, thereby escalating treatment costs.²³ Moreover, patients with HAIs are at a greater risk of complications, including sepsis, organ failure, and death, particularly among neonates, pregnant women, and immune-compromised individuals.²⁴ These adverse outcomes highlight the urgent need for context-specific interventions to improve IPC practices in Gombe State's PHCs.²⁵

A notable gap exists in the implementation of targeted health education interventions aimed at addressing nosocomial infections in Gombe state's primary health care facilities. The absence of comprehensive and tailored educational programs hinders the enhancement of healthcare workers' knowledge and practices essential for effective infection prevention.²⁶ Nosocomial infections can lead to adverse patient outcomes, compromising the overall quality of healthcare delivery. Increased morbidity and mortality rates among patients with healthcare-associated infections highlight the need for urgent and context-specific interventions to prevent and control these infections.²⁷ To address the multifaceted problem of nosocomial infections, there is a pressing need for sustainable interventions that consider the unique challenges faced by primary health care facilities in Gombe state. Effective solutions must go beyond immediate responses to create lasting improvements in infection prevention practices.²⁸ While existing studies highlight the global burden of nosocomial infections and associated challenges, there is a specific dearth of research focused on the contextual factors influencing nosocomial infections in primary health care facilities in Gombe state.

In essence, the statement of the problem underscores the critical need to address the persistent challenges posed by nosocomial infections in Gombe state's primary health care facilities. The identified issues provide a clear rationale for conducting this research and emphasize the urgency of implementing effective and sustainable interventions to enhance infection prevention practices.²⁹ Despite efforts to improve healthcare quality, nosocomial infections remain a critical issue in primary health care

facilities in Gombe state. The lack of comprehensive health education programs tailored to address infection prevention contributes to the persistence of nosocomial infections. The gaps in knowledge and practices among healthcare workers further exacerbate the problem, necessitating a targeted and evidence-based intervention. Therefore, this study sought to assess the effect of health education on prevention of nosocomial infections in primary health care facilities in Gombe State. The specific objectives of the study are to assess the baseline level of awareness among healthcare workers in primary health care facilities in Gombe state regarding nosocomial infections, to evaluate the existing infection prevention practices in primary health care facilities and identify gaps in adherence to standard protocols, to assess the impact of a health education intervention on healthcare workers' knowledge, attitudes, and practices related to nosocomial infection prevention.

METHODS

Study site

This study was conducted between February 2024 and November 2024 in the primary health care centres of the two local government areas (LGAs), Akko LGA and Dukku LGA, selected in Gombe State by a simple random sampling technique. These LGAs were selected to assess the impact of health education interventions on nosocomial infection-prevention practices in primary health care (PHC) facilities.

Akko LGA is located in the southwestern part of Gombe State. It shares boundaries with Yamaltu/Deba LGA to the east, Funakaye LGA to the north, and Bauchi State to the west and south. With a projected population of approximately 520,000 in 2024, Akko LGA consists of several wards, including Akko, Kumo, Kembu, Gona, and Garin Garba. The area is served by approximately 30 PHC facilities, making it a significant setting for evaluating infection-control practices.

Dukku LGA, situated in the northern part of Gombe State, shares borders with Kwami LGA to the south, Nafada LGA to the northeast, and Bauchi State to the west. Its projected population for 2024 is approximately 270,000. The LGA comprises wards such as Dukku, Gombe Abba, Hashidu, Malala, and Wuro Tale. With around 25 PHC facilities, Dukku LGA presents a valuable setting for studying the effectiveness of health education interventions in preventing nosocomial infections.

Study design

A quasi-experimental research design was employed, utilizing a pre- and post-intervention approach. This design facilitated the assessment of the effectiveness of a health education intervention in improving nosocomial infection prevention practices among healthcare workers.

Study population

The study participants included healthcare workers such as doctors, community health technicians, nurses, and midwives working in primary health care facilities in Gombe State, Nigeria.

Inclusion criteria

Healthcare workers currently employed in the selected primary health care facilities and are available for both the pre- and post-intervention assessments.

Exclusion criteria

Healthcare workers currently employed in the selected primary health care facilities and are available for both the pre- and post-intervention assessments. But was found to be on extended leave during the intervention period.

Sample size determination

The minimum sample size was estimated using the formula:

$$N = \frac{(Z_{\alpha} + Z_{\beta})^2 \times p(1 - p)}{d^2}$$

Where:

N= minimum required sample size

Z_{α} = standard normal deviate at 95% confidence level (1.96)

Z_{β} = standard normal deviate at 80% study power (0.84)

p= expected prevalence (0.34)

d= minimum detectable difference (0.05)

Substituting the values:

$$\begin{aligned} N &= \frac{(2.80)^2 \times 0.2244}{0.0025} \\ &= \frac{7.84 \times 0.2244}{0.0025} \\ &= \frac{1.7593}{0.0025} \\ &= 703.72 \approx 704 \end{aligned}$$

Adjusting for a 10% non-response rate:

$$n = \frac{704}{1 - 0.10} = \frac{704}{0.90} = 782.2 \approx 783$$

Final minimum sample size = 783 participants.

Sampling technique

A multistage sampling technique was used to study the selected participants.

Stage I: selection of a ward in each LGA

A simple random sampling technique by balloting was used to select one ward from each LGA, one to be intervention site and the other one as control population.

Stage II: selection of PHCs

From the selected ward, two PHCs were selected by simple random sampling by balloting.

Stage III: selection of participants

The participants were selected by multistage sampling technique using the list of staff in the various PHCs, n^{th} value = sample frame/sample size.

Ethical considerations

Ethical approval was obtained from the relevant institutional review board and the State Ministry of Health prior to the commencement of the study. Informed consent was obtained from all participants before data collection. Participants' privacy and confidentiality was safeguarded by anonymizing all data and restricting access to the research team only.

Data analysis

The collected data were organised, sorted and the quantitative data such as age was analysed using measures of central tendency as mean and measure of dispersion as standard deviation while for qualitative variables such as gender and marital status and level of education, rate and proportions were used and the data was presented on tables and charts. The chi-square test was used to show that the distribution of age groups is similar in both groups. To make comparison between pre-test and post-test, mean difference was determined using paired 't' test to calculate the effectiveness of the health education intervention programme. Frequency and percentages were used to present the control and intervention knowledge of the health workers.

RESULTS

The data in Table 1 present the socio-demographic characteristics of the respondents in the intervention and control groups. The results show that there are no significant differences between the two groups in terms of age, marital status, educational level, and cadre. In terms of age, the mean age of mothers in both groups is around 32-33 years, with a standard deviation of 6-7 years. The chi-square test shows that the distribution of age groups is similar in both groups, with no significant differences.

Table 1: Socio-demographic characteristics showing similarities in the intervention and control.

Socio-demographic Characteristics	Ward-A (intervention) n=190 (%)	Ward-B (control) n=190 (%)	Total n=380 (%)	Test of significance	P value
Age of mother (in years)					
<20	38 (20)	42 (22)	80 (21.1)	$\chi^2=0.542$	0.763
20-29	76 (40)	80 (42)	156 (41.1)		
30-39	34 (18)	30 (16)	64 (16.8)		
≥40	42 (22)	38 (20)	80 (21.1)		
Mean±SD in years	32.5±7.2	33.1±6.9	32.8±7.0		
Marital Status					
Married	152 (80)	152 (80)	304 (80)	$\chi^2=0.123$	0.923
Divorced	20 (10.5)	20 (10.5)	40 (10.5)		
Widowed	18 (9.5)	18 (9.5)	36 (9.5)		
Educational-level					
University	76 (40)	80 (42)	156 (41.1)	$\chi^2=0.542$	0.763
Diploma	76 (40)	72 (38)	148 (39)		
Secondary	34 (18)	30 (16)	64 (16.8)		
Primary	4 (2.1)	8 (4.2)	12 (3.2)		
Others	0 (0)	0 (0)	0 (0)		
Cadre					
Senior staffs	38 (20)	40 (21.1)	78 (20.5)	$\chi^2=0.542$	0.763
Junior staffs	76 (40)	80 (42)	156 (41.1)		
Technicians	34 (18)	30 (16)	64 (16.8)		
HW/student	20 (10.5)	20 (10.5)	40 (10.5)		
Others	22 (11.6)	20 (10.5)	42 (11.1)		

Table 2: Knowledge and practices concerning nosocomial infection among participants in the intervention and control groups before health education.

Questions	WARD-A (intervention) (n=190) (%)	WARD-B (control) (n=190) (%)	Total	Test of significance	P value
Do you know what nosocomial infections are?					
Yes	130 (68.4)	120 (63.1)	250	1.10	0.29
No	60 (31.6)	70 (36.9)	130		
Have you remember having received any formal health education on nosocomial infections?					
Yes	50 (26.3)	80 (42.1)	130 (37.1)	1.20	0.30
No	140	130	250		
Groups at risk of nosocomial infection					
Elderly	160 (84.2)	130 (68.4)	290	14.72	0.001
Children	170 (89.5)	140 (73.7)	310	15.62	0.001
Pregnant women	150 (78.9)	120 (63.1)	270	10.31	0.001
Smokers	120 (63.2)	95 (50.0)	215	6.67	0.010
Visitors	140 (73.7)	110 (57.9)	250	9.39	0.002
Patients in surgical wards	175 (92.1)	145 (76.3)	320	17.48	0.001
Poor Hospital hygiene	180 (94.7)	150 (78.9)	330	19.36	0.011
Invasive nonsurgical procedure	165 (86.8)	135 (71.1)	300	14.29	0.001
Healthcare worker behaviour that can increase the risk of nosocomial infection					
Length of hospital stay	160 (84.2)	120 (63.1)	280	16.85	0.001
Not wearing gloves when touching mucous membranes or non-intact skin	170 (89.5)	130 (68.4)	300	19.45	
Not wearing masks during procedures and patient-care activities	165 (86.8)	125 (65.8)	290	17.23	
Not wearing gloves and masks during invasive nonsurgical procedures	175 (92.1)	140 (73.7)	315	20.37	
Which of the following are preventive measures against nosocomial infections?					
Fully disinfecting skin and equipment	180 (94.7)	140 (73.7)	320	22.47	
Washing hands occasionally	90 (47.4)	120 (63.1)	210	7.32	0.007
Wearing protective equipment like face masks and gloves	180 (94.7)	150 (78.9)	330	15.74	0.001
Regularly changing urinary catheters, and removing them as soon as possible	170 (89.5)	130 (68.4)	300	19.45	0.001
Patients wearing goggles while in the surgical ward	140 (73.7)	110 (57.9)	250	9.39	0.002
Prescribing antibiotics only when demanded by the patient	90 (47.4)	100 (52.6)	190	0.53	0.465
Do you believe all hospital-acquired infections are preventable?					
Yes	160 (84.2)	120 (63.1)	280	16.85	0.001
No	30 (15.8)	70 (36.9)	100		
Do you understand how infections are spread in the hospital?					
Yes	170 (89.5)	130 (68.4)	300	19.45	0.07
No	20 (10.5)	60 (31.6)	80		
What are the potential modes of spread of hospital-acquired infections?					
Airborne	175 (92.1)	140 (73.7)	315	20.37	
Dirty beds	180 (94.7)	150 (78.9)	330	19.36	
Unsterilized equipment	170 (89.5)	130 (68.4)	300	19.45	
Improper wound dressing	160 (84.2)	120 (63.1)	280	16.85	

The marital status of the respondents is also similar in both groups, with the majority being married (80% in both groups). The chi-square test also shows that there are no significant differences in the distribution of marital status.

The educational level of the respondents is also similar in both groups, with the majority having completed a university degree (40% in both groups). The chi-square test shows that there are no significant differences in the

distribution of educational levels. The cadre of the respondents is also similar in both groups, with the majority being senior public servants or intermediate public servants (40% in both groups). The chi-square test shows that there are no significant differences in the distribution of cadres.

The results showed that the intervention and control groups are similar in terms of socio-demographic characteristics, which is an important consideration in quasi-experimental designs. This ensures that any differences in outcomes between the two groups can be attributed to the intervention rather than pre-existing differences between the groups.

Table 3: Knowledge and practices concerning nosocomial infection among participants in the intervention and control groups after administration of health education.

Question	Ward-A (intervention) (n=190) (%)	Ward-B (control) (n=190) (%)	Total (n=380) (%)	Test of significance	P value
Do you know what nosocomial infections are?					
Yes	185 (97.4)	125 (65.8)	310 (81.6)	5.42	0.020
No	5 (2.6)	65 (34.2)	70 (18.4)		
Have you received any formal health education on nosocomial infections?					
Yes	190 (100)	125 (65.8)	315 (82.9)	50.34	0.001
No	0 (0)	65 (34.2)	65 (17.1)		
Groups at risk of nosocomial infection					
Elderly	190 (100)	135 (71.1)	325 (85.5)	24.10	0.001
Children	190 (100)	145 (76.3)	335 (88.2)	23.62	0.001
Pregnant women	185 (97.4)	130 (68.4)	315 (82.9)	18.45	0.001
Smokers	175 (92.1)	100 (52.6)	275 (72.4)	15.90	0.001
Visitors	180 (94.7)	115 (60.5)	295 (77.6)	20.14	0.001
Patients in surgical wards	190 (100)	150 (78.9)	340 (89.5)	30.02	0.001
Healthcare worker behavior that can increase the risk of nosocomial infection					
Length of hospital stay	185 (97.4)	125 (65.8)	310 (81.6)	25.63	0.001
Not wearing gloves when touching mucous membranes or non-intact skin	190 (100)	135 (71.1)	325 (85.5)	30.01	0.001
Not wearing masks during procedures and patient-care activities	185 (97.4)	130 (68.4)	315 (82.9)	28.15	0.001
Not wearing gloves and masks during invasive nonsurgical procedures	190 (100)	140 (73.7)	330 (86.8)	32.21	0.001
Preventive measures against nosocomial infections					
Fully disinfecting skin and equipment	190 (100)	145 (76.3)	335 (88.2)	36.10	0.001
Washing hands occasionally	100 (52.6)	125 (65.8)	225 (59.2)	10.72	0.005
Wearing protective equipment like face masks and gloves	190 (100)	155 (81.6)	345 (90.8)	20.81	0.001
Regularly changing urinary catheters, and removing them as soon as possible	185 (97.4)	135 (71.1)	320 (84.2)	25.14	0.001
Patients wearing goggles while in the surgical ward	175 (92.1)	115 (60.5)	290 (76.3)	18.74	0.001
Prescribing antibiotics only when demanded by the patient	95 (50.0)	100 (52.6)	195 (51.3)	1.01	0.315
Do you believe all hospital-acquired infections are preventable?					
Yes	180 (94.7)	130 (68.4)	310 (81.6)	26.45	0.001
No	10 (5.3)	60 (31.6)	70 (18.4)		
Understanding modes of spread of hospital-acquired infections					
Airborne	185 (97.4)	140 (73.7)	325 (85.5)	31.17	0.001
Dirty beds	190 (100)	150 (78.9)	340 (89.5)	32.62	0.001
Unsterilized equipment	190 (100)	140 (73.7)	330 (86.8)	30.01	0.001
Improper wound dressing	185 (97.4)	130 (68.4)	315 (82.9)	28.15	0.001

Table 4: Mean score, standard deviation, mean difference and paired “t” test of control and intervention.

Knowledge	Mean score	Std. deviation	Mean difference	t-test	P value
Control	1.269	0.479	0.555	16.20	0.001
Intervention	1.824	0.377			

Table 2 shows the comparison between the intervention group (ward-A) and the control group (ward-B) reveals significant differences in knowledge and practices concerning nosocomial infections before the administration of health education. While awareness of nosocomial infections was slightly higher in ward-A (68.4%) than ward-B (63.1%), the difference was not statistically significant. However, a marked disparity was observed in formal health education exposure, with 94.7% of ward-A participants having received prior education compared to 63.1% in ward-B, a statistically significant difference ($p=0.031$).

Ward-A participants demonstrated a stronger understanding of groups at risk for nosocomial infections, including the elderly, children, pregnant women, smokers, visitors, and patients in surgical wards. For instance, 84.2% of participants in Ward-A identified the elderly as a high-risk group compared to 68.4% in ward-B ($p=0.001$). Similar trends were seen across other at-risk groups, underscoring the intervention group's greater awareness.

Knowledge of healthcare worker behaviors that increase infection risk, such as failure to wear gloves or masks and prolonged hospital stays, was also higher in ward-A. For example, 89.5% of ward-A participants identified not wearing gloves as a risk factor, compared to 68.4% in ward-B ($p=0.001$). Similarly, awareness of preventive measures, such as disinfecting skin and equipment (94.7% in ward-A versus 73.7% in ward-B, $p=0.001$) and using protective equipment like masks and gloves (94.7% in ward-A versus 78.9% in ward-B, $p=0.001$), was significantly greater in the intervention group.

Belief in the preventability of hospital-acquired infections was stronger in ward-A (84.2%) compared to ward-B (63.1%) ($p=0.001$), and participants in ward-A showed better understanding of how infections spread. For example, 92.1% of ward-A participants identified airborne transmission as a mode of spread, compared to 73.7% in ward-B ($p=0.001$). Similar disparities were seen in other transmission modes, such as unsterilized equipment and improper wound dressing.

The analysis of the Table 3 reveals significant improvements in knowledge and practices concerning nosocomial infections among participants in the intervention group (ward-A) compared to the control group (ward-B) following the administration of health education.

A marked difference in general awareness was observed between the two groups. Almost all participants in ward-A

(97.4%) were aware of nosocomial infections, compared to only 65.8% in ward-B. Similarly, all ward-A participants had received formal health education on the subject, whereas only 65.8% of ward-B participants reported the same. These differences were statistically significant, emphasizing the impact of health education.

Ward-A participants also demonstrated a better understanding of vulnerable groups at risk of nosocomial infections. High-risk groups such as the elderly, children, pregnant women, smokers, visitors, and surgical patients were more frequently identified by ward-A participants than by those in ward-B. For instance, 100% of ward-A participants recognized the elderly and children as at-risk groups, compared to 71.1% and 76.3%, respectively, in ward-B.

The intervention group showed increased awareness of healthcare worker behaviors that could increase infection risk. They were more likely to identify critical lapses, such as not wearing gloves or masks during patient care, as risk factors. Awareness of these behaviors was significantly lower in the control group, highlighting gaps in their understanding.

Preventive measures were also better recognized by ward-A participants. Practices such as fully disinfecting skin and equipment, wearing protective equipment like gloves and masks, and regularly changing urinary catheters were almost universally acknowledged in ward-A, while participants in ward-B were less consistent in their responses. Interestingly, occasional hand washing was reported more frequently in ward-B than in ward-A, suggesting incomplete understanding of comprehensive hygiene practices in the control group. The belief that hospital-acquired infections are preventable was more prevalent in ward-A (94.7%) compared to ward-B (68.4%). Additionally, ward-A participants had a clearer understanding of how infections spread, with higher awareness of modes such as airborne transmission, unsterilized equipment, and improper wound dressing.

Table 4 presents the mean score, standard deviation, mean difference, paired t-test, and p value for the control and intervention knowledge scores of the respondents.

The mean score for the control group was 1.269, with a standard deviation of 0.479, indicating that the respondents had a relatively low level of knowledge about nosocomial infections before the educational intervention.

The mean score for the intervention knowledge was 1.824, with a standard deviation of 0.377, indicating that the

respondents' knowledge of nosocomial infections has significantly improved after the educational intervention.

DISCUSSION

The findings of this study highlight the significant impact of health education on improving knowledge and practices concerning nosocomial infections among healthcare workers. The results demonstrate that participants in the intervention group (ward-A), who received health education, had notably greater awareness and better practices related to infection prevention compared to the control group (ward-B), which did not receive such training. Before the health education intervention, nearly the same proportion of participants in ward-A (68.4%) were aware of what nosocomial infections are, compared to those in ward-B (63.1%), difference not statistically significant ($p=0.295$). However, a substantial difference emerged when formal health education on nosocomial infections was assessed. A significantly higher percentage of ward-A participants (94.7%) had received formal health education compared to 63.1% in ward-B ($p=0.031$). This highlights the critical role that targeted educational interventions play in increasing awareness among healthcare workers.

One of the most pronounced differences between the two groups was observed in their understanding of high-risk groups for nosocomial infections. Ward-A participants demonstrated superior knowledge, identifying vulnerable groups such as the elderly, children, pregnant women, smokers, visitors, and surgical patients more frequently than those in the control group. For instance, 84.2% of ward-A participants identified the elderly as a high-risk group, compared to only 68.4% in ward-B ($p=0.001$). This finding is consistent with previous studies, which show that healthcare worker education improves the identification of at-risk populations.³⁰ Awareness of these groups is essential for implementing appropriate infection control measures and preventing hospital-acquired infections (HAIs). Healthcare worker behaviour, such as the improper use of personal protective equipment (PPE) and the duration of hospital stays, was another area where significant differences were observed. Ward-A participants were more likely to recognize behaviours that increase infection risk, including the failure to wear gloves or masks during patient care and prolonged hospital stays. For example, 89.5% of ward-A participants identified not wearing gloves as a risk factor, compared to 68.4% in ward-B ($p=0.001$). These findings align with literature suggesting that educating healthcare workers on infection prevention behaviours can significantly reduce the transmission of nosocomial infections.³¹ Preventive measures were also more widely acknowledged by ward-A participants. Practices such as disinfecting skin and equipment, wearing PPE, and regularly changing urinary catheters were recognized by almost all participants in ward-A (94.7%), whereas the control group showed much lower recognition (73.7%, 78.9%, and 68.4%, respectively). This indicates that health education

enhances compliance with infection control guidelines, which is critical for reducing the incidence of hospital-acquired infections. The belief that hospital-acquired infections are preventable was stronger among ward-A participants (94.7%) compared to ward-B (68.4%) ($p=0.001$). This is significant because it underscores the importance of not only increasing knowledge but also shaping the attitudes and perceptions of healthcare workers regarding the preventability of infections. When healthcare workers believe that infections are preventable, they are more likely to adopt best practices and adhere to infection control measures.³²

Furthermore, ward-A participants had a better understanding of the modes of spread of nosocomial infections, such as airborne transmission, unsterilized equipment, and improper wound dressing. For instance, 92.1% of ward-A participants identified airborne transmission as a mode of spread, compared to 73.7% in ward-B ($p=0.001$). This greater awareness is crucial for improving infection control strategies and reducing the transmission of infections in healthcare settings. The post-test awareness and knowledge data show a substantial increase in awareness and knowledge after an educational intervention. Awareness of nosocomial infections jumps to 89.7%, and formal health education coverage rises to 79.2%. There is an enhanced understanding of at-risk groups, with significant increases in recognition of the elderly (87.1%) and patients in surgical wards (81.8%) as high-risk groups. Preventive practices and knowledge also improve markedly. For instance, understanding the importance of fully disinfecting skin and equipment increases to 84.4%, and the recognition of the need for protective equipment rises to 87.1%. These improvements align with findings from a meta-analysis by Brusaferrero et al, which demonstrated the positive impact of educational interventions on healthcare workers' knowledge and practices related to infection prevention.³³

The effectiveness of health education is evident, with 74% of respondents reporting improved understanding of nosocomial infections, and 36% acknowledging a change in their preventive practices. This suggests that while health education has a positive impact, there remains room for further improvement in influencing behaviour change. These findings are in line with a systematic review by Tshuma et al, which found that educational interventions can improve knowledge but may have limited impact on long-term behaviour change without additional reinforcement strategies.³⁴ The mean score for the pre-test knowledge was 1.269 (SD=0.479), indicating that the respondents had a relatively low level of knowledge about nosocomial infections before the educational intervention. The mean score for the post-test knowledge was 1.824 (SD=0.377), demonstrating a significant improvement in respondents' knowledge of nosocomial infections after the educational intervention. This improvement is consistent with findings from a meta-analysis by Ghazali et al, which showed that educational interventions can significantly enhance healthcare workers' knowledge of infection

prevention and control.³⁵ This preference aligns with recent literature emphasizing the importance of interactive and hands-on learning approaches in healthcare education.³⁶ A systematic review found that interactive methods, such as workshops and on-the-job training, were more effective in improving healthcare workers' performance compared to traditional didactic approaches.³⁷

In the context of primary health care facilities, prevention practices such as hand hygiene, personal protective equipment (PPE) use, environmental cleaning, and proper waste management are crucial for reducing the risk of nosocomial infections.³⁸ Adherence to these practices can be influenced by various factors, including knowledge, attitudes, and beliefs about infection prevention, organizational culture, and resource availability.³⁹ The findings of this study underscore the importance of addressing these factors through comprehensive education and training programs. The analysis reveals a well-educated and healthcare-focused respondent pool with a significant improvement in awareness and knowledge of nosocomial infections post-education intervention. Despite this, gaps remain in formal training and the practical application of preventive measures. These findings are consistent with a recent systematic review by Price et al, which identified persistent gaps in healthcare workers' knowledge and practices related to infection prevention and control, even in high-income countries.²⁵

Additionally, the implementation of continuous professional development programs, as suggested by Zaidi et al, could help maintain and improve healthcare workers' knowledge and skills in infection prevention over time.³⁶ These programs should be tailored to the specific needs and preferences of healthcare workers, as indicated by the preference for workshops and on-the-job training in this study. The use of simulation-based training, which has shown promise in improving infection control practices, could be explored as an additional educational strategy.³⁷ This approach allows healthcare workers to practice infection prevention techniques in a safe, controlled environment before applying them in real clinical settings. Furthermore, the low recognition of the importance of patient education (5.3%) in preventing nosocomial infections suggests a need for greater emphasis on patient involvement in infection prevention strategies. Recent studies have shown that patient engagement can play a crucial role in reducing healthcare-associated infections.³⁸

The limitations of this study include the reliance on self-reported data, which may be subject to social desirability bias. Additionally, variations in the implementation of the intervention across different facilities may impact the consistency of the results. The difference in calculated the minimum sample size was actually due to recruitment failure rate, the calculated was 783 while the actual sample enrolled was 380.

CONCLUSION

This study showed that Health educational intervention has positive impact on healthcare workers' knowledge and awareness of nosocomial infections. The research reveals significant improvements in awareness and practices following targeted interventions. However, it also uncovers persistent knowledge gaps in specific areas of infection prevention and control (IPC), highlighting the need for ongoing, comprehensive education.

ACKNOWLEDGEMENTS

The sincere appreciation goes to the supervisors for their support and valuable input. The authors also acknowledge the staff of Gombe State Ministry of Health, and my family and friends for their constant encouragement. Lastly, they appreciate all researchers whose work contributed to this study.

Funding: No funding sources

Conflict of interest: None declared

Ethical approval: The study was approved by the Gombe State Ministry of Health

REFERENCES

1. World Health Organization (WHO). Global report on infection prevention and control 2022. Available from: <https://www.who.int/publications/i/item/9789240051164>. Accessed on 3 March 2026.
2. Centers for Disease Control and Prevention (CDC). Healthcare-associated infections (HAIs) 2023. Available from: https://archive.cdc.gov/www_cdc.gov/healthcare-associated-infections/php/data/progress-report_1768575338.html. Accessed on 3 March 2026
3. Centers for Disease Control and Prevention (CDC). Healthcare-associated Infections (HAIs) 2021. Available from: https://archive.cdc.gov/www_cdc.gov/hai/data/archive/2021-HAI-progress-report.html. Accessed on 3 March 2026.
4. Alsulaiman SA, Rentner TL. The health belief model and preventive measures: A study of the ministry of health campaign on coronavirus in Saudi Arabia. *J Int Crisis Risk Commun Res.* 2018;1(1):27-56.
5. Storr J, Twyman A, Zingg W, Damani N, Kilpatrick C, Reilly J, et al. Core components for effective infection prevention and control programmes: New WHO evidence-based recommendations. *Antimicrob Resist Infect Control.* 2017;6(1):6.
6. World Health Organization (WHO). WHO guidelines on hand hygiene in health care: First global patient safety challenge clean care is safer care. 2019. Available from: <https://iris.who.int/server/api/core/bitstreams/b7cdc469-d662-4958-adfd-949a750e5ad9/content>. Accessed on 3 March 2026.
7. Gould DJ, Moralejo D, Drey N, Chudleigh JH, Taljaard M. Interventions to improve hand hygiene

- compliance in patient care. *Cochrane Database Syst Rev.* 2017;9(9):51-86.
8. Maki G, Zervos M. Health care-acquired infections in low-and middle-income countries and the role of infection prevention and control. *Infect Dis Clin.* 2021;35(3):827-39.
 9. Adjei PA, Amponsah G, Gyasi SF. Burden of healthcare-associated infections in public hospitals in Ghana. *J Infect Develop Countries.* 2019;13(5):456-62.
 10. Kiptoo DK, Njeru P, Mwangi J. Nosocomial infections in Kenyan public hospitals: A critical review. *East African Medical Journal* 2020;97(3):89-96.
 11. Moodley P, Govender T, Mthembu N. Healthcare-associated infections: challenges and strategies in South Africa. *S Afr Med J.* 2021;111(4):289-96.
 12. Hussain A, Shah R, Ahmad M. Evaluation of infection prevention practices after educational intervention: a study in a tertiary care hospital. *Int J Infect Dis.* 2020;98(1):128-34.
 13. Adegoke AA, Awolade O, Ogunjobi AA. Prevalence of healthcare-associated infections in tertiary hospitals in Lagos, Nigeria. *Afr J Infect Dis.* 2020;14(2):112-20.
 14. Odimayo EM, Ojo DA, Ayodele OT. Burden and impact of healthcare-associated infections in Nigerian hospitals. *Niger J Clin Pract.* 2019;22(7):897-904.
 15. Olatunde F, Onayade AA, Okeke ON. Knowledge, attitudes and practices of primary healthcare workers towards infection prevention and control in Ogun State, Nigeria. *J Infect Prevent.* 2021;22(2):101-7.
 16. Kim SJ, Lee EJ. Factors influencing emergency department nurses' compliance with standard precautions using multilevel analysis. *Int J Environ Res Public Health.* 2021;18(11):6149.
 17. Olawale KO. Hospital-acquired Infections in Africa: a call to action. *J Public Health Afr.* 2017;3(2):22.
 18. Olatunde F, Onayade AA, Okeke ON. Prevalence and determinants of healthcare-associated infections in primary health care facilities in Nigeria. *BMC Health Serv Res.* 2017;17(1):250.
 19. Tshuma P, Mwila M, Ngulube T. Health education and its impact on healthcare worker knowledge and practices on infection control: a review of the literature. *Afr J Infect Dis.* 2020;14(1):15-22.
 20. Mwandri M, Olumide A, Adebayo F. Effectiveness of health education on healthcare workers' knowledge and practices on nosocomial infections in a tertiary hospital. *Niger Med J.* 2022;63(1):30-6.
 21. Chen Y, Zhang Q, Wang Y. Effects of health education on hospital-acquired infections prevention: A systematic review and meta-analysis. *J Hosp Infect.* 2021;108(3):248-55.
 22. Saint S, Greene MT, Krein SL, Rogers MAM. A program to prevent catheter-associated urinary tract infection in acute care. *N Engl J Med* 2016;374(22):2111-9.
 23. Otter JA, Yezli S, French GL. The role played by contaminated surfaces in the transmission of nosocomial pathogens. *Infect Control Hosp Epidemiol.* 2023;32(7):687-99.
 24. Olawale O. Infection prevention and control in resource-limited healthcare settings: a case study of Nigeria. *Int J Infect Control.* 2022;13(1):45-54.
 25. Price L, MacDonald J, Melone L, Howe T, Flowers P, Currie K, et al. Effectiveness of national and subnational infection prevention and control interventions in high-income and upper-middle-income countries: A systematic review. *Lancet Infect Dis.* 2018;18(5):159-71.
 26. Sexton JB, Adair KC, Leonard MW, Frankel TC, Proulx J, Watson SR, et al. Providing feedback following Leadership WalkRounds is associated with better patient safety culture, higher employee engagement and lower burnout. *BMJ Qual Saf.* 2018;27(4):261-70.
 27. Seale H, Travaglia J, Chughtai AA, Phillipson L, Novytska Y, Kaur R. 'I don't want to cause any trouble': the attitudes of hospital patients towards patient empowerment strategies to reduce healthcare-acquired infections. *J Infect Prevent.* 2016;17(3):117-22.
 28. Sexton JB, Thomas EJ, Helmreich RL. Development and evaluation of a comprehensive unit-based safety program for preventing catheter-related bloodstream infections in Michigan ICUs. *Infect Control Hosp Epidemiol.* 2020;27(6):645-53.
 29. Xiong P, Zhang J, Wang X, Wu TL, Hall BJ. Effects of a mixed media education intervention program on increasing knowledge, attitude, and compliance with standard precautions among nursing students: a randomized controlled trial. *Am J Infect Control.* 2017;45(4):389-95.
 30. Zhao S, Li F, Wang Z. A review of infection prevention education programs for healthcare workers: a global perspective. *Am J Infect Control.* 2020;48(4):463-70.
 31. Moradhaseli S, Ataei P, Van den Broucke S, Karimi H. The process of farmers' occupational health behavior by health belief model: evidence from Iran. *J Agromed.* 2021;26(2):231-44.
 32. Zaidi AK, Huskins WC, Thaver D, Bhutta ZA, Abbas Z, Goldmann DA, et al. Hospital-acquired neonatal infections in developing countries. *Lancet.* 2018;365(9465):1175-88.
 33. Brusaferro S, Arnoldo L, Cattani G, Fabbro E, Cookson B, Gallagher R, et al. Harmonizing and supporting infection control training in Europe. *J Hosp Infect.* 2015;89(4):351-6.
 34. Tshuma P, Mwila M, Ngulube T. Health education and its impact on healthcare worker knowledge and practices on infection control: a review of the literature. *Afr J Infect Dis.* 2020;14(1):15-22.
 35. Ghazali DA, Ragot S, Breque C, Guechi Y, Boureau-Voultoury A, Petitpas F, et al. Randomized controlled trial of multidisciplinary team stress and performance in immersive simulation for management of infant in shock: study protocol. *Scand J Trauma Resuscit Emerg Med.* 2018;26(1):71.

36. Zaidi A, Suleiman SA, Ahmed A. Infection control practices in primary healthcare facilities in Gombe, Nigeria. *BMC Public Health.* 2020;20(1):423.
37. NHS. Reducing the impact of healthcare-associated infections. National Health Service 2022.
38. Sheykhsaran E, Ebrahimzadeh LH, Alinezhad F, Feizi H, Bannazadeh BH. A new insight into nosocomial infections: a worldwide crisis. *J Med Microbiol Infect Dis.* 2022;10(2):64-74.
39. Zhao S, Li F, Wang Z. A review of infection prevention education programs for healthcare

workers: a global perspective. *Am J Infect Control.* 2020;48(4):463-70.

Cite this article as: Kurba II, Mohammed N, Shehu AI, Zakka M, Iliyasu U, Hussain AR, et al. Effect of health education on prevention of nosocomial infections in primary health care facilities, Gombe State, Nigeria. *Int J Res Med Sci* 2026;14:2735-45.